
Multiply by 10⁻² (H)Find each product.
3.0501 × 10⁻² = 8.6605 × 10⁻² =
2.5417 × 10⁻² = 8.13 × 10⁻² =
3.4558 × 10⁻² = 0.8356 × 10⁻² =
8.071 × 10⁻² = 9.4 × 10⁻² =
4.1 × 10⁻² = 1 × 10⁻² =
6.5 × 10⁻² = 2.55 × 10⁻² =
4.0925 × 10⁻² = 2.018 × 10⁻² =
3.7982 × 10⁻² = 0.4263 × 10⁻² =
5.54 × 10⁻² = 4.74 × 10⁻² =
6.95 × 10⁻² = 2.2 × 10⁻² =
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Multiply by 10⁻² (H) AnswersFind each product.
3.0501 × 10⁻² = 0.030501 8.6605 × 10⁻² = 0.086605
2.5417 × 10⁻² = 0.025417 8.13 × 10⁻² = 0.0813
3.4558 × 10⁻² = 0.034558 0.8356 × 10⁻² = 0.008356
8.071 × 10⁻² = 0.08071 9.4 × 10⁻² = 0.094
4.1 × 10⁻² = 0.041 1 × 10⁻² = 0.01
6.5 × 10⁻² = 0.065 2.55 × 10⁻² = 0.0255
4.0925 × 10⁻² = 0.040925 2.018 × 10⁻² = 0.02018
3.7982 × 10⁻² = 0.037982 0.4263 × 10⁻² = 0.004263
5.54 × 10⁻² = 0.0554 4.74 × 10⁻² = 0.0474
6.95 × 10⁻² = 0.0695 2.2 × 10⁻² = 0.022

Math-Drills.Com


